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QUESTION 1

You have created a Line Item Business Process (BP), and your client informs you that eachline item on this BP must
create a new record of a different BP. You must add a Data Element to the Line Item Form of your BP.

What kind of Data Definition must this Data Element be?
A. BP Picker

B. User Picker

C. Date Only Picker

D. BP Creator

Correct Answer: B

QUESTION 2

Which twoactions are facilitated by mandatory Data Elements in the Shell Detail Form? (Choose two.)
A. linking elements through the Shell hierarchy

B. auto-populating constant values

C. placing Shell Instances in the hierarchy in Unifier

D. configuring andcreating Shell Instances in Unifier

E. determining the address code of the Shell

Correct Answer: BC

QUESTION 3

You are making changes to users in Groups in a shell. You use the Import User Groups Assignments File functionality
to complete this task. You identify two errors during this update process for two users.

What are two reasons for the errors? (Choose two.)

A. The user and Company combination is not valid.

B. The Group name on the import file is not a valid Group in the Shell.
C. Permissions are not valid for the Shell.

D. Partner Companies do not exist within the Shell.

E. Scheduled import conflicts with scheduled export process.

Correct Answer: BC
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QUESTION 4

The Business Process type that consists of only an Upper Form is
A. Simple type

B. Document type

C. Text type

D. Line item type

Correct Answer: D

QUESTION 5

Identify the column in the basic Data Definitions log that indicates how data is stored in the database.
A. Category

B. Input type

C. Data size

D. Data type

Correct Answer: D
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